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Matlab code:

o)

% Describe the magnetic distribution in solenoid
clear
rh=2.5;10=10;mu0=4*pi*le-7;n=10 %$set a series of parameters
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m=(n+1) /2

xmax=6; ymax=6;ngrid=40;

cx(l:ngrid, l:ngrid)=zeros;cy(l:ngrid,l:ngrid)=zeros;
cO0=mu0/4*pi;

nh=20;

ngridl=nh+1;

xmax1=0;

ymaxl1=2*pi;

xplot=linspace (- xmax,ymax,ngrid); %set the 2-dimensions grid
yplot=linspace (- xmax, ymax,ngrid) ;

thetaO=linspace (0,2*pi, 21);

thetal=thetal(1l:nh);

yl=rh*cos (thetal) ;

zl=rh*sin (thetal);

theta2=thetal (2:nh+1) ;

y2=rh*cos (theta2) ;

z2=rh*sin (theta?2);

dlx=0;dly=y2- yl;dlz=z2- z1;

xc=[- (n- 1)/2:2:(n- 1)/2];yc=(y2+yl)/2;zc=(z2+z1)/2;

for k=1:m

for i=l:ngrid

for j=l:ngrid

rx=xplot (j)- xc(k); %to calculate every grid point to the
current element in x direction

ry=yplot (i) - yc;

rz=0- zc;

r3=sqrt (rx.”"2+ry.”"2+rz.”2) ."3;

dlxr x=dly.*rz- dlz.*ry;

dlxr y=dlz.*rx- dlx.*rz;

bx (i,3)=sum(c0*i0*dlxr x./r3); by(i,]j)=sum(c0*i0*dlxr y./r3);
end

end

cx(l:ngrid,l:ngrid)=cx(l:ngrid, l:ngrid)+bx(l:ngrid, l:ngrid) ;
cy(l:ngrid,l:ngrid)=cy(l:ngrid, l:ngrid)+by(l:ngrid,1l:ngrid) ;
end

quiver (xplot, yplot,cx,cy); %to describe the vector field
plot (xc,rh, ' r*" )

hold on

plot(xc,- rh,' r*' )

o
o°
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clear;clc

$I = U/ (2*pi*a);
mulQ = 4*pi*le-7;
T =

’

o°  o°

’

1
n 1
a = 0.5
L 1

o°

o0 “e

’

C = mu0*n*I*a/2/pi; %

xmax=9;

ymax=9;

zmax=20;

ngrid=50;

x=linspace (- xmax,xmax,ngrid); %
y=linspace (- ymax,ymax,ngrid);
z=linspace (- zmax,zmax,ngrid);
fai = linspace(0,pi,40);

cx=zeros (ngrid,ngrid,ngrid) ;%
cy=zeros (ngrid,ngrid,ngrid);

cz=zeros (ngrid, ngrid, ngrid) ;

b =10"710; %

for i=l:ngrid %
for j=l:ngrid
for k=l:ngrid
rou = sqgrt( x(i)"2 + y(3)"2 );

Bp = C*sum( cos (fai) .* ( 1./sqgrt( (z (k) -
L) "2+rou”2+a”2-2*a*rou*cos (fai) ) -
1./sgrt( (z(k)+L)"2+rou~2+a”2-2*a*rou*cos (fai) ) ) )

Bx = Bp*x (i) /rou;

By = Bp*y(j)/rou;

Bz = C*sum/( ( (a—rou*cos (fai))./ (rou”2+a”2-
2*a*rou*cos (fai)) ) .*

( (z (k)+L) ./sqgrt( (z (k)-L)"2+rou”2+a”2-

2*a*rou*cos (fai) ) - (z(k)-L)./sqgrt( (z (k) +L) "2+rou”2+a~2-

2*a*rou*cos (fai) ) ) );

cx(i,Jj, k) = b*Bx ;
cy(i,j, k) = b*By ;
cz(i,j, k) = b*Bz ;

end
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end
end

[xplot,yplot,zplot] = ndgrid(linspace (- zmax,zmax,ngrid));
scale =1;
quiver3 (xplot,yplot, zplot,cx,cy,cz,scale, 'r'");
axis ([-xmax xmax -ymax ymax -12 12 1)
view ([40,120,40]);
% view([0,90,90]);
hold on

[r,zz]=ndgrid ((0:.05:1)*2*pi,-1:.05:1);
x=cos (r);
y=sin(r);

hl=mesh(x,vy,zz);

x0 = 0.0001;
density = 1;

h = 0.3;

b = 0.25;

div = divergence(cx,cy,cCcz);

Fz = density*x0*div/mul0”2.* cz;
F =0

for i=l:ngrid
for j=l:ngrid
for k=l:ngrid
if (L<=z (k) &&z (k)<= (L+h)) || ((-L+h)<=z (k) &&z (k) <=-1L)
if ((x(1)-atbh)”2 + y(3)"2) <= b"2
%cz (1i,73,k)
F = F+ abs(Fz(i,3,k));
end
end
end
end
end




